Solve the system by

graphing: [—6)6 +3y =—9
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Solve the system by graphi { g4
olve [he system Dy grapning:
2x— 4y = 16
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Determine the number of
solutions of a linear system
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Without graphing, determine the number of solutions and then
classify the system of equations.
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Without graphing, determine the number of solutions and then
classify the system of equations.

! e =-9
{y=—2x—4/. G
dx+2y=9%= m=-% b= 3 45
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Without graphing, determine the number of solutions and then
classify the system of equations.
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Without graphing, determine the number of solutions and then

classify the system of equations. C .
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X= 'S\fm'l'- V'-'“"l‘ Sondra is making 10 quarts of punch from juice and club soda. The
number of quarts of fruit juice is 4 times the number of quarts of
Y'T.' cled Soda club soda. How many quarts of fruit juice and how many quarts of
club soda does Sondra need?

){-I-\/ = [0 Use a graph to find the solution.
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)Gy =13 Alisha is makingan .

18 ounce coffee

y =5x beverage that is 3
made from brewed =

coffee and milk. . (5,) JS')

‘5]‘5 need 5 The number of 4

. ounces of brewed .
}ak 0" M, I {( coffee is 5 times :

greater thatg the
number of ounces
of milk. How many
ounces of milk does
Alisha need? 2
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